B RAT IR SC AT R ZE 6k
% 1951 % 2015 4 102-111 102

Moodle 2 & STACK 3 ZH W\ -EHEBOREEERH

FEKXRE - —XBEH A0 HH (Tetsuya Taniguchi)!
College of Liberal Arts and Sciences,

Kitasato University

£ HBRRERER - FRAEMER PR RZ (Yasuyuki Nakamura)?
Graduate School of Information Science,

Nagoya University

=%%& PR BUA (Takahiro Nakahara)?

Consolidated Company, Sangensya

BAKYE - EMERFR A+E  EFR (Masao Igarashi)
B4 #H (Hiroaki Nemoto)®

College of Bioresource Sciences,

Nihon University

1 LI

STACK (System for Teaching and Assessment using a Computer algebra Kernel) @
version 3 & moodle 2 A\ /=, MR ORBEDERF ZFBNAT 5. SEITITHIR
BEELEERY MORBEEZEMICL, RFU Uy VL RBRY Y — 2 BAWZRE
ZBRE~DT 4 — KRy 7 OERBIZRIT 5. £, 20 & 5 2REFE ORI R HE (B
ARV 7%) 12OV TH (1] #BREhizv.

2 STACKS3.1 28T B EEERH

STACK 2 DA ¥ R b—iEA % EHETH > 7223, STACK 3 LU&iZ Moodle D75 2
AELTERINTEY, £ VA M—/VIIHERMBEICR Y, ETEEL MRV EE
Ehi-. ZZ T, [1] D& 3 IZH—NZ Moodle 2.5 BIEASA > & h—L &, STACK
ROFSTALHBA VR D=V ENBERRET 5. (1] TIIMERRE LEOREZ 5
\Z STACK (23517 3 WA EE DOHRIEZ BB L7=. Moodle & STACK DA ¥ X h—/iZ
DVTHL[] ZBRLTH BV

ltetsuya@kitasato-u.ac.jp
2nakamura@nagoya-u.jp
3nakahara@3strings.co.jp
4igarashi.masao@nihon-u.ac.jp
Snemoto.hiroaki@nihon-u.ac.jp



ZDETIE, MIEREROME, & ITTHROME L EOBRIEELRBNT 5. REOE
TiI, BRELEAEXZ "M OBBEORER 2B L.

FE 1 2 5 3
FET A=|1 3 2| &2 ROITHIRESHEEL |A| =
RS 1.00 26 5 39
V' RABEICZS i
1373

RIBERETD

|3::r_':fg’
X1 475X
. L, L BN HRIES T EERT S
Z 2T, 3 ROIEFTHNDITFIRDOEE RS R ppp—

STACK provides

B L THD. REOHER TR BEICIIT | | 5o rmm

STACK

B OIS S EZ, BEDIRARZEIEZD LD : ;ia»;'m%gﬁs;s

A Lt ah HhRE

RRIEE MR L ChD, SbIC, SANMIEEARE K | - —om

T stEraE

2l b &, FAEIBBEDEHERTRTDHLHIIZLTH | 0] fexcrses

& #isRieE

5. £7, Moodle 12T, B - M7 IZTHL | H maan U
WEHEE R T 552 ) v 3oL, R2OBEESH | - ¢ o

J1&hb. STACK #BIR LT “R~N 227 U w4 : 0 &R

5 & ¥ 3 ORIERENMERN TTL 5. ’ s
BHITRETHEFME I—8) , Mnput) , MPo-

tential response tree] , Options] , 4451 @ 5 HEIZHMPNLTWT, EHIZ,
ENENDOHREB TNV OO TW5. e LT, BB T—#) X, ThFd
11, TREIRE4£1 , Question variables] , [Random group) , FEF+RX k],
TF24IL hEERL, THEIZ«—F/Nv5 1, TPenaltyl , 28I d574—F
/Ny %91, TQuestion note] D&E 10 HOMIZ5 T3, Random group i1i&
FIXZEMOEE TLY . Penalty iT—FOBANIIRTEIRWEAEZRET HERFERD.
Question note IZ2W\ Tt [1] #BR I hizv.

X2 MEEEER

2.1 IHB T—#1 OAHEZE

¥7, BE—ROATFITIVRMITHT IV —%2BIRTS. 7 2 Y —iX Moodle 12T
WMEBMTL2ZENTES. MEAMCIISENERIZAMZRDDZ LAHKS. #
24, MTHIXOME) EL4uT2fiTs 2 LN TE 3.
UHOBKITHD 3 x 3175
2 5 3

A= 1 3 2
2(2a+1) b+5 3(2a+1)
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DITFIRDER FAEIZE
BXEEW =L, a &
biZiX 0226 9DENT
VERIEIED LD

—if
hsU
[RES"
Question variables

Random group
EE £z b

rims2014 F32)LH(5)

J4ub clotuMeE - B o Tl = |

L7, EhEERT e "Eifij;*j“ﬂw—’ ——
5 7-®IZiX, Questions l[nputans]
variables & fSET ¥R k J:Tﬂbnm-:
DIMIZIT, B4 DERIC SRR
ABFHIEL. I

Z ZTi%, a:rand(10)
ETBZET,allit o Penaity* @) 0.1
59 FTOVThINT B [ T T MR L]
VERMIEAEINRA. bIZ = EliFiE L ERE
DVWHFEIRTH 5. e

%7z, Questions vari- Guesten nete
ables D 31THDAAIT L i e i o)
D 3x31TF A BREZ
n5. PETER MO R L
\(A\) = eAQ IIRIEEST
RFi, P dolrs @[] Replce 5§ with ¥C.. ) s 5.5 i ¥L...] cn save

3 MEREMYERE
Question variables a:rand(10);
brand(10);
Amatrix([2,5,3],[1,3.2].[2(2*a+1), b+5, 3*(2*a+1)]);
Random group |
FIEETHART O opr o oabgR - - AT
B I Uzsx, X|EEE JL@GEA - - m
S iEEEE 2 A& QA |

\(AY) = @A@ £F . ARDITHIFESTE R L. (AN = [[input:ans1]]

[[validation:ans1]]

X 4

Question variables & FiET ¥ X b
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2 5 3

A=11 3 2
26 5 39
ERTEND. ThbbH, \(A\) OB TX TRBEESh-ER A BRTIH, 0Ae D
BATXa=6,b=0DLEXIM1IDLSIZ
A:matrix([2,5,3],[1,3,2], [2%x(2*a+1), b+5, 3*(2*%a+1)]);

D CAS I » TREB SN -HERBHE S S0 5. \(JAI\) = [[input:ansi]] OEFTIZ
FIEEITRICIIE S O L O IcRTR SN D, T4
BRREEANT D LIhD. OB, mamiz1 |A] =
DORFHGDEMTH DR, i+ 2HEHE Input © X5 MEEM
ansl O T Input type DEFTE Matrix ICEETIUTTIIRRICEETA LR TX
5. LI, BT XA FOWMD [[validation:ans1]] OEFTIIX 6 D L 9 IZ ansl 12
FEBADLIEBENFER RTINS, = N {2 5 3

1 3 2 J E5 ROITFIRESELL 4] =60

ZTIIEME 60 BETRINTWVEHA, b L, 2 5 30
X*2+2*X & Ajj énﬁ:%é!i, .'132 + 21; & Your last answer was interpreted as follows .
CAS TLoTREIN-HORH IS
A iizEgihnrEn X6 validation
2 5 3 2 5 3
A= |: 1 3 2 :| ETHROITIFESHEE L. |A| = 60 A= [ 1 3 2 ] ETBROITHIFESTREE L. |A| = 60
26 5 39 26 5 39

B I
Your last answer was interpreted as follows Your last answer was interpreted as follows

—60

60
I ‘9:::"/7‘
‘TI‘L’Q‘
{ELLY | SEAENCERTT.
LLTEEL, ERTTI HEHNELET
CONA{EMERSR: 1.00/1.00 COREEMERS: 0.501.00 CRREDNFILT 010
X7 IEf# X8 AR
10 D el A 2 5 3
X WEI 1 —Fy o OO A=|1 3 2|92 ROTIRESELL |4 =50
26 5 39

[[feedback:prt1]]
DEFICILZAE DA LT Rz 3 LT 7,8, Your last answer was interpreted as follows:
IDEI, 74— Ry I PRRINDFFT &
72%. Options M [Standard feedback for
correct] DEFTIIZAENTHRER -2 & X2k
RENDEEHRT 4 — RNy 7 Led, £z,
[Standard feedback for partially correct] & IS- memmsies,
tandard feedback for incorrect] IXZH EH, g “PHEPHR 00010OREOTT L7010

GRBHDIBELEIRVHFED L JIZRRE K9 AR

59

‘3:1"/‘7 ‘
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NBT4—FRy 72, £, R8O IFEsg  WHEF/WI0 | ®ev-1zames

WET] DX, WERMLEIBED 74— K [[feedbackprt1]]

Ny 7 LS, #ra RBREDORERIUCR LT, &

VMR T 4 — KRy I B2 BT LNTE B2,

DR EIZ% B3 5 Pontential response tree

OWMTITH = L BNH¥ES. K10 ®HEZ74— KR w7
B12DLMIZHT ST 14— K/ ) OMITFERZRERKT LEBICRRENSE 74—

Ry 7 THD. EBREITIIEI3 DX S IZRREINS.

M1 A=[2 5 3

~EN 13 2] £TB ROIFIREEEEL |4 = 60

Options

1.00/1.00 26 5 39
‘\; g’;"“":’” il Your last answer was interpreted as follows.
Ques_tlon_—level Yes ~ 2 ers w0
simplify
Assume positive () No ~
Standard feedback | ®gv-1z&773 =
for correct
SLTEFLIC, BT
Standard feedback | &gy - xE773 HEUENET

for pama”y correct CMi2{EMETE: 0.00/1.00 FIMIEFRI LY 1.001.00 | FEEESNES ., COREONTILT 1 010 |EDNFILT 4 020

&L L BREDICIERR T,

Standard feedback | #®%v-Ex5e3 :16 i:4 3%;72 ::;13 :‘z;
for incorrect SEhELTTY, ‘ Y 7113':‘7173 7113‘
M1l JEHRT 4 — Ry I
13 REFER
éﬂﬁ'ﬁaﬁ?gF e S A - CYAE]
’ B I U EEE S @@A Y-

4BE X, X'
= 2 AN QA
\[\begin{vmatrix} 2 & 5 & 3\ 1 & 3 & 2\ @2*(2"a+1)@ & @b+5@ & @3*(2*a+1)@

\end{vmatrix} = \begin{vmatrix} 0 & -1 &-1\1& 3 &2\ 0 & @b-12a-1@ &
@-2"a-1@ ‘end{vmatrix}\]

—— 3—

\[=1\cdot (-1)2+1\begin{vmatrix} -1 & -1 \ @b-12*a-1@ & @-2"a-1@ \\
\end{vmatrix}=\begin{vmatrix} 1 & 1 \\ @b-12"a-1@ & @-2"a-1@ \\ \end{vmatrix} \]

\[=1\cdot (@-2"a-1@) - 1\cdot (@b-12*a-1@) = @10*a-b@\]

12 LRICHTBT 4 — Ky s

2.2 IEH lnput] OAHO%EX

Input DIRE TiL, B 5 TR7=MFEMDOAD
FEREEET 5. X 14 DHFAIL Algebraic input
12725 TV 553, filliZ, Matrix, Single character, J—
Text area, True/False %23% 5. L2AIZ, In- B15 fr5iRAOREN
put type % Matrix {2, Model answer IZ (2,3) 1752 ET % & REMIZX 525 15
DEIICRAIBENT .
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2.3 5B [Potential response tree] M A %X

Input: ans1

X 3 @ “Potential response tree:prt1” DOEFT
7V r0¢3L K16 X 17NER->THR Input type (2 Aigebraic input  ~
~ENB. [X 16 D Feedback variables DI, Model answer (2)  determinant(A)
ZOITHROBETIIFIA L TWinWo T

Input box size 15

Strict syntax Yes «

McH22, FALEARK A OBEAE - B nsertstars® No <
X7 POREE BRI 2. Syntax hint
ZZIZRNWDHEHHE [Potential response tree] Forbidden words

i3, FEPRBEOREEAN L&, Ok Forbid float @) Yes ~

AT 4 — RN V2T EZ A& RL  Require lowestterms  Yes ~
0, BRERIETHERER2S. Check the type of the yes
COMBEIZBWT, ZEDOBREIZL->TT response

A=Ky 7 BRT~9 O 3BY Iy BHAs,  Studentmustverily ves -
IABEDEICEY BT ONBLEFRET  oow the valigation
5. £, ZOMETIE [[input:ansl]] It &k »

TRTFSNEZE 5 OREMICAS SRR st
IXE#¥ ansl ITRAENHB. K14 THE Input

No -

Potential response tree: prt1

Question value 1
Auto-simplify Yes

Feedback variables

This potential response tree will become active when the student has answered: ans1

X 16 Potential response tree £ ® 1

(7—R 1) ansl IZERTHS A DITIXDOENASh-LE

17 ™ Node 1 T Sans @ ansl & Tans ® determinant(A) #3% L ® T, “Node 1 when
true” DOEFTDONENETIND. TOEFE A D &, Mod DA =, Score DA 1 T
HHOT, REIT 1 RITREIND. KRIZ “Node 1 true feed back” DB R I D28,




108

Node 1 Answer test AlgEquiv ~ SAns ans1 TAns determinant(A) Test
options Quiet No -
Node 1whentrue Mod = ~ Score 1 Penalty Next [stop] ~ Answer note pri1-1-T

Node 1true | @mo-pe®Fes
feedback

Node 1 when false Mod = ~ Score 0 Penalty Next Node 2 v Answer note prt1-1-F

Node 1 false | @mo-ne®Fya

feedback
‘Delete node 1
Node 2 Answer test AlgEquiv » SAns anst TAns -determinant(A) Test
options Quiet No «
Node 2 when true Mod + » Score 05 Penalty Next [stop] ~ Answer note prt1-2-T

Node 2 true | @mo-Leszes

feedback
ERAC e E T

Mode 2 when false Mod - ~ Score 0 Penalty Next [stop] ~ Answer note prt1-2-F

Node 2 false  @mo-ne®Frs
feedback

‘ Delete node 2‘

‘Add another node ‘

17 Potential response tree % o 2

ZDBEREMTHDHDOT, MHRISINALV. Next D% A5 & Stop L7 > T3
DT, HEMRT L7225, BRERIL1 AT, THERI3DF 74V FERD 1A E—, T
ROLER LS. B&RIZ, K11 TREINET 74V b DT 4 — K3y 7 O “Standard
feedback for correct” DM THRESINT [E TEE LA, ERTT! AHRTEINS.
LoT, ZOREDOBRMHIIBRERIINT L7225,

(75— 2) ansl ICERTHS A DITHIXOEOTEHFEDEMNRAOhSh-L =

X 17 ® Node 1 T Sans ® ansl & Tans ® determinant(A) 238725 DT, “Node 1 when
false” DERFTDOLEREITEND. ZOEFTEH 5 &, Mod DA =, Score DA 0 T
HDHDT, RETL0RITRESINS. KIZ “Node 1 false feed back” DT S 523,
ZOFEIIEMTH DT, MbRREINA2V. Next DM%EH5 & Node 2 & 72 5TV
5 DT, Node 2iZx¢e. Node 2 T Sans ® ansl & Tans @ ~determinant(A) 23% L\ D
T, “Node 2 when true” OEFROLENEITIND. TOEFE A5 L, Mod DA +,
Score DA% 0.5 T2 DT, Node 1 TEREX N7 0 AZMmaEEh, A¥iX0+05=0.5
RIZREINSD. RIZ “Node 2 true feed back” OMMBRTEND B, ZDBRE, [HEH
BWET.) PRRIND. Next D% 25 & Stop 2o TWBADT, HERT L7225,




RERBAIX 0.5 BT, 2T R3DF 740 hEAD 1 MIITRIER VRIS R & A7 &
o B#&iZ, M1 TRESNET 74/ hOT 1 — B3y 7 O “Standard feedback for
partially correct” DM THRESI NS MELWHOBICERTY, | BRREND. Lo
T, ZOHEDRENLRRTIIRG L7225,

(7r—Z3) (r—R 1) TH (5—R 2) THLHEWES

X 17 @ Node 1 T Sans @ ansl & Tans @ determinant(A) 23% L < 2\ DT, “Node 1
when false” OEFOLERETIND. ZOEFEH D L, Mod DA =, Score DM
BOTHADT, HEIT0RIZREIND. KIZ “Node 1 false feed back” DOHBITT
SNBR, ZOBBEEMTHEOT, [THERENRV. Next OM%EH 35 & Node 2
£ 725> TWABDT, Node 2 1Z#Zp. Node 2 T Sans @ ansl & Tans @ —determinant(A)
BELL 20D T, “Node 2 when false” OEFTOLUERETIND. EOEFREAD &,
Mod DR —, Score DA 0 TH DD T, Node 1 TERE SN0 R0 0 KRB &,
BEIX0-0=0KIIREINSD. RIZ “Node 2 false feed back” DB RR I D03,
OBERTEWMTHDOT, MHEARINZR. Next O %EH D & Stop &> T5
DT, HERT L25. FERERIX0OR LD, BEIX, K11 TREINEZT 74V D
7 4 — K3y 7 @ “Standard feedback for incorrect” DM TRE Iz [REFENT
.1 BRREND. LoT, ZOFEOBEKNLRTIING L7225,

& T, ZDORIED Potential response tree Tix, Node D23 2 Th > 7228, —RKIZ[H
BEERT DL EIE, Node kb o b2 SAERLT, WABWASRTZ r— KRy 72 H
BLIWEERHD. L, Node ZHRLT ERMENKREIZRD. £ TSTACK T,
# 8 7% Potential response tree DiREMZ EFH TN, £/ — FOKREIREEE
16 DL I RZHRIZE > THREML TIND. 202 LITREEEDHRILITRIL -
TW3.

3 [ERE, BAERY FILORE

B#%IZ, RKOL S RERBEEEERY MriRD ZBEORER 2B 5.
IDETIE, 2x2TFIDOEAMEE

BEX7 MvERZECRD SE 5
Fi, M ICHIETEEFASH LS

BE2TT-. 74— K97 L LT,
|: 1 :| /\Qlcim—g“é@ﬁ«:bwl;[ 2 :|H;§>. &
3 1

RO [ 4 g]tbﬁl*ﬁf@l; M=4 =5 b

BEHEOHRSEE-S TV B EEIT [H
BEISESTVET] 2IBL, BAE
DFITH->TVBR, BHERS b
EHHAE, RI8SD XL, FOEE suscs-tlEd

BICRET 2EERS FARED O A ISHIEFREF IV OK, Ay IS EFBEH~IEL1E No TH!
ZMEEDFFE: 0.50/1.00 ZORFED~F)LF 42 010

PERTEI BT A= F Ry T &R 18 EEELEE~S FMORE
TEH5ICLTHB.

|[Fzv ‘

109



110

%7, Question variables & BT ¥ X k72 5N Input DREZRT.

Question variables (Z) prand(5);
q:rand(5);
m:rand(5);
n:rand(5);
n:H:if n = m then n+1 else n;
Zero:matrix([0],[0]);
Se:{m, n};
C:matrix([p*q+1.p].[q.1]);
A:C.matrix([m,0],[0,n]).invert(C);

Vi-col(C, 1):
V2:col(C, 2);
Random group ()
PR+ D [[550r R - =T
B 7 Usex X EEE|Y L @EGENA - || 1
T i E4E % 0 & Q2 A |

FROITH @A@ MEHFIED \(Mambda_1 = \)[[input:ans1]], \(lambda_2 = \)[[input-ans2])&74%.
[[validation:ans1]][[validation:ans2]]

#7c, \(lambda_1\) |23 G F 2EHF DML [[input:ans3]], \(lambda_2\) |23 G F2EHF DML
[[input:ans4]] #7i%. \(\clubsuit))
[[validation:ans3]][[validation:ans4]]
JiAp
TR A
BWEZ 9P @) | amu-nemzes

[[feedback:prt1]]
19  Question variables & FIRET ¥ 2 b DRRE
¥ Input: ans1 ¥ Input: ans3
Input type (2)  Algebraic input Input type 3 Matrix -
Model answer (2) m Model answer (7)1
Input box size (2) 3 Input box size (2 3
Strict syntax (D)  Yes « Strict syntax (@) Yes «
Insert stars (D) No Insert stars (2) No
Syntax hint (2) Syntax hint (7)
Forbidden words (%) Forbidden words (%)
Forbid float (0 Yes ~ Forbid float @)  Yes ~
Require lowest terms Q) Yes « Require lowest terms ‘(_f) No
Check the type of the Yes « Check the type ofthe No ~
response (2) response ()
Student must verify (2)  Yes - Student must verify 3)  Yes ~
Show the validation @) No ~ Show the validation?) No -«
Extra options (2) Extra options (2)

K20 Input DRE
F#kiZ,ansl TmZ niZ L7 b D% ans2 12, ans3 TV1 % V2T L= b D% ansd |25
ETH. 22T, m,niELVEAEET, ThAZPNIHET5EERY MOERE %
VI, V2 2 LT3,
KIZ, Potential response tree M E %7~ 3. Feedback varialbles Dl T, Z4 5 H



FEE L TAA LK ansl & ans2 D% Ko ICBRELTWA. ¥7-, ml & m2i37 4 —
KRy ZIZRNDA—EOXEEZRELTWS. £, fml i, FAEBREERY b LT
AT LTcans3 BELWHEIZ1IZRD L) IKREIN TS, fm2 & ansd DBAFR G [E
T 5. Node 1 Ti Ko &[X 19 D Question variables TIRE S 7= 1E LW EHEOKM
Se ZHHEIL T, BoTWEbEDER T 4 — KNy ZIZIRLTWA. Node 2 Tl fml &
fm2 O fml*fm2 231 Tho7= bTEARE L, 2 5 TRVBAIE COEEY M-

TWAPET A — KRy 7 L TGRELTWA.

Potential response tree: prt1

Question value
Auto-simplify

Feedback variables

1
Yes ~

Ko:{ans1, ans2};

m1:if A.ans3-ans1*ans3 = Zero then if ans3 = Zero then "No" else "OK" else "No";
m2:if A.ans4-ans2*ans4 = Zero then if ans4 = Zero then "No" else "OK" else "No";
fm1:if A.ans3-ans1*ans3 = Zero then if ans3 = Zero then 0 else 1 else 0;

fm2:if A.ans4-ans2*ans4 = Zero then if ans4 = Zero then 0 else 1 else 0;

RS

This potential response tree will become active when the student has answered: ans1, ans2, ans3, ans4

&

Node 1
Node 1 when true
Node 1 true feedback

Node 1 when false
Jode 1 false feedback

Node 2
Node 2 when true
Node 2 true feedback

Node 2 when false
Jode 2 false feedback

S5 3k

+0.5 !

Answer test AlgEquiv
Mod = ~ Score 0.5

AR -LERTTD

Mod = ~ Score 0
AR - L ERTED

EFESETWET!

Delete node 1

Answer test AlgEquiv

v SAns Ko
Penalty

Penalty

~ SAns fm1*m2

Next Node 2

Next [stop]

-

TAns Se
Answer note prt1-1-T

Answer note prt1-1-F

TAns 1

Mod + + Score 0.5 Penalty Next [stop] ~ Answer note prt1-2-T
AR - L ERTED
Mod - ~ Score 0 Penalty Next [stop] ~ Answer note prt1-2-F

AR -LERTTD

Test options

Test options

\(lambda_1 ) [CHIGTBEE~SHLIE @n1@. \(lambda_2\) [SHET2EE~IH LT @m2@ T
71

Delete node 2

X 21

Potential response tree M§%E

Quiet Yes

Quiet No «

[1] BCRMEATATEATRIR A0 B, PR R, PR BUL : [STACK % b bW K%
e 7—=V7 DEEHF|IL STACK AOMRBENY 7 ODBE], BEMITH T # TR
1909 %, 165-175, 2014.
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